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Mixed Practice

Period

1. Find the measure of the angle (in radians) that subtends each arc.
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Instrumentation A voltmeter’'s  pointer is
6 centimeters in length (see figure). Find the angle
through which it rotates when it moves 2.5 centime-
ters on the scale.




3. A satellite in circular orbit 1250 kilometers above Earth makes one complete revolution every
110 minutes. What is its linear speed? Assume that the Earth is a sphere of radius 6400 kilometers.
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4. The circular blade on a saw has a diameter of 7.5 inches and rotates at 2400 revolutions per
minute.

a) Find the angular speed in radians per second.
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b) Find the linear speed of the saw teeth (in feet per second) as they contact the wood being cut.
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5. A car is moving at a rate of 40 miles per hour, and the diameter of its wheels is 2.5 feet.
a) Find the number of revolutions per minute the wheels are rotating. /\’ / 9 6
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b) Find the angular speed of the wheels in radians per minute.
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6. Rewrite each angle in degree measure.
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7. Rewrite each angle in radian measure. Leave your answer in terms of pi. No decimal answers.
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8. Determine the quadrant in which each angle lies.
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Evaluate the following trig functions using the unit circle. Rationalize any denominators.
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9.

Old-fashioned trucks used a chainto transmit power from
the engine to the wheels. Suppose that the drive sprocket
had a diameter of 6 inches and the wheel sprocket had a
diameter of 20 inches. If the drive sprocket goes 300 rpm,
find:
a. The angular velocity of the drive sprocket (rad/min).
b. The linear velocity of the 20-inch wheel sprocket

5" diameter

drive sprocket
{(inch/min).
¢. The angular velocity of the wheel {rad/min). \
d. The speed of the truck {mi/h). SO o Bmater
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. ”ﬁ, PIECES OF P12ZA Suppose the pizza shown 1\
divided into 8 equal pieces. The diameter ol the pizza
is 16 inches. What is the area of one piece ol pizza?

A ,




11. Find the value of all six trig functions for angle 6.
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12. Find the value of the remaining trig functions given that secf = g. = L““:ﬁ‘
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13. The radius of the Earth is about 3,959 miles (assuming that it is a perfect sphere). If a person is standing stillat
the equator, what is their linear speed as the Earth rotates on its axis? Why do you think we launch space vehicles
from Florida and not somewhere like Ohio?
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14. Find the missing sides of each triangle.
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18. y = —2tan (x +§)
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